Algebra 2 TEST 1.2 Review  Name Key, Per
V)

L Linear Regression.

1. Given the data, find...

Median Income (thousands $) 70

46 57 65 55 60

Median Home Price {thousands $) 130

95 116 106 99 116

() the correlation coefficient .30

(b) an equation for the line of best fit '1\" La4¥x ¢ 37.5)
(c) a prediction for the median home price of a median income of $50,000

Y= .24 (50,000)

+ 3751 = k20 37.51

II. Write a compound inequality for each graph.
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III. Solve each compound inequality and graph the solution on a number line.
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IV.  Solve each absolute value equation er inequality, graph on a number line and check! (Remember,

each problem has 2 parts.)
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V. Linear Systems.

17. Is (3,2) a solution to the system?
4x+5y=2 &(3)5(2)= 2
2x+y=4 NoPe !

18. Solve the system by substitution.

y=3x-4 Nx= Il (1-1)
2x+3y=-1 x=

2x +3(3x-4)= ) us 30)-4
2x+qx-12 =~ g %)

19. Solve the system by elimination.

20. Solve the system by elimination.

=3y =-10R ~|-3y:="10 _{4x-93’=25 4y-4(-6) =20
ile-y—-l- 3 _3L'ﬂ=-q 4x 45y =2 Uy 4 54= 20 E
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VII  Write the equation of the line described.

22. passing through (4,6) with slope %

23. &smgfhrough (2,6) and (3,9) YY\"
~lo= 3(»- -4 33
S RN
s 3]

24. through (4 -—2) &Parallel to y*%x+9 m’i

25. fhr-nugh ( ~3,4) & perpendicular to y=§x+9
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VIII. Graph the solution on a coordinate plane. = '!;14’3
26. y>-3 27. x<2 N - y<_+30 29. 2x—-4y<-12 \&
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IX.  Misc. Lines i I '
30. Find the slope of the line 31. Find the slope of the line 32. Write the equation of the
passing through (—3,5) and 4 é ;; ;5 line ifz\ks!ope—infercepf form.
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